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Time : 30 Minutes Inter (Part I1) |
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Note : Four possible choices A,B,C,D to each question are given. Which chaice is correct fill that
circle in front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark in that Question.

Projection of U = ai + bj+ ck along i is : (A) b (B) a (C) ¢ (D) a+b

K x i equals : ' @ Jd @ k (€ 1 (Do

Slope of tangent to parabola y: =4ax at {a,2a) is : {a) 3 (B) 2 (C) -1 (D) 1

| Facus of the Parabola x° = day s : (A) {a,0) (B) {;a,ﬂl {C)(0,a) (D) {0.-310—

The length of diameter of the cirde x +y —4x—12 = 0 is : (A) 6 {B) 7 (C) 8 (D} 9

The Graph of the Inequality ax + by < ¢ s
(A) Circle (B) Parabola (C) Straight Line (D} Half Plane

i
'

The perpendicular distance of the line 3x+4y+5 = 0 from the origin is
(A) o (B8 1 (¢ 2 (P} 5

i Equation of the line having slope -5 and y- intercept -7 is
(A) 5x+y+7 =0 (B) 5x—y+7 =0 [C) Sx+y=7 =0 (D) 7Tx+y+5=10

When a line intersects the y—axis at (0,4) then y—intercept is
(A) 4 (B} 2 (_0 (B 6

Slope of the Line Perpendicular to line 2x -3y +1 = 0 is equal to |

R 7 O\
> @epYd s o -3

Solution of Differential Equation g- = Sectx 9, {
{A)y = Cotx + ¢ (B) y = tanx + ¢ (C) ¥5 Cosx +c (D) y = -tanx + ¢

If [,2 dx=12,then K = ? : A 2 B 16 (O8 (D) 4

g . in-1 3 -1x in~1 % in-12%
IJs_—F'" - {A) Sin = (B} sin = (C) Sin 5 (D) sin 5

—

)

I Sec’xtanxdx =

Secdx tanx tan

- + ¢ (D) 2
dy

¥ y=plMg®—- =: (4 € (@ ;1; © 1 (D) e*?!

3 2 i
(A) Sec x.tan?x + ¢ (B) si;—x+ ¢ {C) =% |

3x? 3 2
The Derivative of x3 w.at. x2 is equal to : (A) 3 (B) ?x (€} =5 (D)

2|
3x*

2 oaaigvE .
— (22 +3)5 ~

)

“13f P is perimeter of square and A is area then P =

i (A)(2x? + 3)* 20x (B) 20( 2x* + 3 )% (C) 15( 2x* + 3)% (D) ( 2x% + 3)° 100x
‘ Which one is Leibniz Notation for Derivative of f(x) : i

l d Fd

I @ ;;,*: ® £(x) (© 35 (0 Df(x)
Lim - x

x=3 =1 =41  ° (A) 0 (8 = (€} 2 (D) 1

() 2VA (8) 4A (O 4VA (o) A’

@[m]




/ [ Mathematics (Subjective ) [ Inter -
Note: It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt 1
I—

— =

-2019 | Time 2: 30 Hours Marks :

p——

any (9) Parts from Q.No 4, Attempt any (3) Questions from Part - IT .‘Write same Question
No. and its Part No, as given in the Question Paper.

=E
Q.No.2 | (i) |Express the area ‘A’ of a drele as a function of its clrcumference ‘¢, |
(W} | Define Odd Function and give an | ) Lim vxva -va _ 1
i Prove that 0 e = m
j_ example, =
(iv) | Find the derivative of f(x)=c by v | If ¥y= ot + 22 +2 prove that T
definition. —
5 o
(vi) | Find :—; if y=+yJx+vx (vil) Differentiate CDS_'J'E w.nt ‘x.

{viit} ’ Differentiate x2Sec dx w.rt, * x-.

a |Find 2 ¢ y = g%

{x}

{xi)

lFind Yz if y= 2534434 x.2 Find dy if y= xeStw
dx

(xify

]fy:_'z_

. dy
Find —
n d. inx |

X

Q.No.3 | (i)

Find 8y and dy if y = V¥ when x changes from 4 to 4, 41 ]

(i)

—]
-axis and under the curve y = 5 - x2_from AK=-1tox=2|

|
| Find the area above the x

{iii}

' Graph the solution set of lineas inequality 2x + 1 =

[ iv)

{v)

0 i xy ~ plane, _4

Solve the differential equation
ydx rgdy = 0

|

£ e e o 00
' Using differentials find ﬁ and :—;-:

Define the Definite lntegréT

if xy+x=4
(vi)

Evaluate _f

Cosx
Sinxln Sinx

i) § Evaluate | x In x dx

dx

o

Define Corner Point of Solution Region.

Evaluate _f Sec‘ix dx

(xi)

dx (i | Solve & =

2
ki Y+ 1
2 (2x-1)2 dx

e~x

- g
| Evaluate f__
1

U]

Show that the points A(R. 2058 (V3,-1) and C(0,-2)are vertices of a right

triangle,

| Find equation of the line through-{-4,7) and parallel to 2X=Ty+4 =0

-7 5
Find angle from line with slope -3— to line with slope >

=0

Find dength of tangent from the point P{~5,10) to circle 5x%+ 572+ 14x +12y - 10

| Find Wkex of Parabois (x=2)° = 8(y+2)
|: Find Equation of Hyperbola with Foci (x4,0),

Vertices(+2,0),

¥ AB =CD, find A if B, 2).cl.2.5),

D(4,11) are given points,

¥ U=ai+2aj-k, v=js+

b=

Find vector perpendicular to each of vectors

as= zi"'j"'!r

-~

aj + 3k are perpendicular vectors, find value of a.—]

Find volume of parallelepiped determined by
Bei+2j-k,g=i-2j,3k,

[

_]E:

s1e2f.k |
1

- 7j - 4k |

Define Trapezium.

Define Ellipse.

{xili) | Define DirettioTal Angles.

_(

|

|
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2.5

(a)

Discuss the continuity of f(x) at x =2

2-1x< 2

f(x) =1

3 x =2

(5} |

(b)

i s
Discuss the function f{x} = Sinx + W Cos2x for extreme values

in the interval (0,2m)

(s)

(a}

2x2

Evaluate the Integral f mdx

(5)

(b} | Find the point three — fifth of the way along the line ségment from
A(-5,8)to B(5,3) ' {5)
0.7 | (a) | Solve the differential equation % + % = X (s)
(b} | Minimize z = 3x +y )
| Subject to the constraints
|  3x+5yz2 15 _
x +6y=2 9 |
RED,; ¥ &0 (5)
V0.8 |(a) |Find a joint equation of the lines through the origin and
perpendicular to the lines &% - 2xytana - y© = 0 L(S)
(b} | Find equation of the‘gircle of radius 2 and tangent to the line
x-y=-4 = 0, at, A(l,-3) (s)
No.d | (a) | Find the Centre, Foci, Eccentricity , Vertices and equations of diretrices 1
of
i“:. = % = 1 | (5)
Find a Unit Vector Perpendicular to the plane containing vectors
(b) a=2i-6j-3k and b=4i+3)-k _
Also find Sine of the angle between them. {5]-

(o= =or

a9~ ol —40/9




